
C-Service 3

Slewing system Ø90-530 / 380°

3013001Model:F 59 F

3013001 - Slewing system Ø90-530 / 380°

Page 1 of 2 2011-09-28



C-Service 3

944401411  4Cylinder tube Zylinderrohr

3018012  2Rack bar Zahnstange

945658063  4Piston Kolben

3018024  2Step bearing Stützlager

823560905  4Seal Dichtung

823571356  8Locating ring Führungsring

823551907  4Wiper ring Abstreifring

823679808  4O-ring 98,02x3,55 O-Ring 98,02x3,55

823710109  16Seal ring Dichtungsring

4560420910  16Socket head cap screw M 10 x 60 8.8 Innensechskantschraube M 10 x 60 8.8

4126608011  2Hexagon screw M 16 x 30 8.8 Sechskantschraube M 16 x 30 8.8

8237181612  2Seal ring Dichtungsring

4562522113  32Socket head cap screw M 12 x 75 12.9 Innensechskantschraube M 12 x 75 12.9

9423685714  32Bushing Buchse

301.300.1  0Slewing system 2 No 590001- Schwenkwerk 2 No 590001-

Kit 94565808 Seal kit Dichtungssatz

823560905  4Seal Dichtung

823551907  4Wiper ring Abstreifring

823679808  4O-ring 98,02x3,55 O-Ring 98,02x3,55

Pos Part No Description EN QuantityDescription DE

3013001 - Slewing system Ø90-530 / 380°

Page 2 of 22011-09-28


